20124F (E450]) EERVEYYH—KE BEETRE 6F4%)

™Y T

20124 (5845M]) REERALVEHYH—KE BEETIRE UFEHE)

R R tT=a

=] T = Y & 1) 5 it
as] M | ~ F
= K n C i ') B =
A B A ES
v
[Ef1)—4']9/9. 9/23
F B = )l |HBEsE | B & | Be | BRkAE|IER
=i 4-0 0-0 6-0 7 +10 1
= 0-4 0-0 1-2 1 -5 4
BHH~ R 0-0 0-0 0-1 2 -1 3
BB 0-6 2-1 1-0 6 -4 2
[FHr)—4'19/9. 9/23
ITHIE YMCA |URYF2 | IUF=F | Bm |FERAE|IEA
ITHIE 3-2 2-6 7-1 6 +3 5
YMCA 2-3 3-3 5-3 4 +1 7
YRYF> 6-2 3-3 2-2 5 +4 6
WFE=% 1-7 3-5 2-2 1 -8 8
[65F£DER]
16 EBEERYYh—o357 561 THEYYH—IFT
261 FWEYYH—RIU—IL 6HL FCUNYFY
3t AR~ EYvH—hU—, 7L YMCAERFC
A Y vh—RI—I)L 8L WFE=ZFHvH—95T

1) 1] & A =] = T Y
~ F = H M
1) = 4 B = n s C
7  Ek A
v
[Efr)—4]9/9. 9/23
PRYF> | ¥ & E B ITHE | Ba |FRRE|IBAL
Y~YA> 8-1 1-2 5-2 6 +9 2
B E 1-8 1-8 1-4 0 -17 4
B 2-1 8-1 3-2 9 +9 1
ITHIE 2-5 4-1 2-3 3 -1 3
[FHr)—4) 9/9. 9/23
WFE=& | @#AsE | & I YMCA | Bl |JKRE|IEAL
IWF=% 0-5 0-5 0-5 0 -15 8
BH R 5-0 2-1 6-1 9 +11 5
= ) 5-0 1-2 4-0 6 +8 6
YMCA 5-0 1-6 0-4 3 -4 7
[45E4£DER)
16 BEEYYHh—057 561 EBR~sEYYH—RI—I
2L FCUYRY#> 66 EIIHYyh—RI—IL
3L THEYYH—IFT 7L YMCAEREFC
AL FHEYYH—RU—IIL 8 WF=FKYvh—os35T




